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i=1
print("1*{0}={1}".format(i,1*i))
i=i+1
print("1*{0}={1}".format(i,1%*i)) "
i=i+1 A1) L 45 SR
print("1*{0}={1}".format(i,1*i)) 1*1=1
i=i+1 1*2=2
:OzriTI( 17{0}={1" format(i, 1) for i in range(l, 10, 1) : 1*3=3
print("1*{0}={1}".format(i,1*i)) print ("1x{0}={1}". format (i, 1*i)) 1*4=4
i=i+1 1*5=5
print("1*{0}={1}".format(i,1%*i)) 1*6=6
i=i+1 _
print("1*{0}={1}".format(i,1*i)) 1*7=7
i=i+1 1*8=8
print("1*{0}={1}".format(i,1*i)) 1*9=9
i=i+1
print("1*{0}={1}".format(i,1%*i))
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print("1
print("1*2 2")
print("1*3=3")
print("1*4=4")
print("1*5=5")
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print("1*6=6")
print("1*7=7")
print("1*8=8")
print("1*9=9")
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print ("1x1={0}".
print ("1%2={0}".
print ("1%x3={0}".
print (“1%4={0}".
print ("1x5={0}".
print ("1%6={0}".
print ("1x7={0}".
print ("1x8={0}".
print ("1x9={0}".
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format (1%1))
format (1%2))
format (1%3))
format (1%3))
format (1%4))
format (1%5))
format (1%6))
format (1%7))
format (1%8))
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i=1
print("1*{0}={1}".format(i,1%*i))
i=i+1
print("1*{0}={1}".format(i,1*i))
i=i+1
print("1*{0}={1}".format(i,1*i))
i=i+1
print("1*{0}={1}".format(i,1*i))
i=i+1
print("1*{0}={1}".format(i,1*i))
i=i+1
print("1*{0}={1}".format(i,1*i))
i=i+1
print("1*{0}={1}".format(i,1*i))
i=i+1
print("1*{0}={1}".format(i,1*i))
i=i+1
print("1*{0}={1}".format(i,1*i))
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For jin range(1, 10):
foriinrange(1, 10): # AEEEREIA
print("{0}*{1}={2:2d}".format(j, i, j*i), end="\t") # LARNEEBEE

print(") HITAER

\_

¥ python hello.py

| HONEEBIEEEHEY - j A =1 D02 14353 Duk= 4 D055 106 6 IaT= 7 Inds 8 1= S
2x1= 2%x2= 4 2% 2x4= 8 2%x5=1¢ *6= 2x7=14 2%xB8=16 2%x9=18
J= .E/J .?V\E%U """"" EQ Ixl= Ix2= 6 » Ix4=12 3x5=15 3x6= IxT=21 3%B= 3x9=27

4x1= 4x2= 8 4x4=16 *5=2 *6= 4x7=28 *B= 4%9=36
sic s R 5%¥1= 5 5%2=18 5 5%x4=20 5x5=25 5x6=30 5%7=35 5%xB=40 5x09=45
Si=1F - TEIMNE LB Y F E g4 fx1= 6 6%2=12 6 Gx4=24 6x5=30 G*6=36 G+7=42 648=48 649=54

. =3[ = Heh 4t T#l= 7x2=14 T Txd=28 Tx5=3 xkf= TxT=48 Tx8=56 T*x9=F3
(| < 10) L A W }=I L . I A= :\\IE n\\E $}tl. 8x1= 8x2=16 - Bxd=37 *G=Af #H= BxT=5F *RB=FR BxQ=T2
HERHAFEBRENEEE - 9= 9 942518 94327 944=36 O45=45 OKG=54 OT=63 OB=T2 9931
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o forcinrange (1,6,1):

1 n=int(input())
2 -6
3 while i<=n:
if i%6==0:
print (" {0}”. format (i))

1=1+1]
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